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_swapSupportingFeeOnTransferTokens (I [ [0 [ [ function
_swapSupportingFeeOnTransferTokens(address[Jmemory path,address _to)internal virtual{ for (uint
i;i<path.length-1;i++){ DAPP [0 [0 ** 176 [0 [0 0206 [J (I 5616 (address input,address
output)=(path<i>,path[i+1]); (address token0,)=UniswapV2Library.sortTokens(input,output); IlUniswapV2Pair
pair=IUniswapV2Pair(UniswapV2Library.pairFor(factory,input,output)); uint amountinput; uint amountOutput; {
(uint reserve0,uint reservel,)=pair.getReserves(); (uint reservelnput,uint
reserveOutput)=input==token0?(reserve0,reservel):(reservel,reserve0);
amountinput=IERC20(input).balanceOf(address(pair)).sub(reservelnput);
amountOutput=UniswapV2Library.getAmountOut(amountinput,reservelnput,reserveQutput); } (uint
amount0Out,uint amount1Out)=input==token0?(uint(0),amountOutput):(amountOutput,uint(0)); address
to=i<path.length-2?UniswapV2Library.pairFor(factory,output,path[i+2]):_to;
pair.swap(amount0Out,amount1Out,to,new bytes(0)); 0 O O 00 O O swapETHForExactTokens 0 OO [0 O 2
OO0doooobooboboOoOOddad function _swapSupportingFeeOnTransferTokens ( DAPP [ O ** address
[]1 memory path,// 0 00 000 address_to// 00000 tokenO OO OO0
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